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x " AABQ ¢ ABQC & 4%+ =1:2> ABQC=6a

r ¥ 7 BPRC » ff=2a +6a+18a =26a - £ C-

( B )2.As show in the figure, A is a point outside of circle O
with radius is 1, OA=2, AB tangent to circle O at point
B, and BC//OA, connect AC. What is the area of shaded
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WwAELiEL, -2 s Aw L, L, P Qs gL
& AADP £ ABAQ *

o £AQB = ZAPD =90°

@ AD = AB

5 £QAB = ZPDA

. AADP = ABAQ (AAS » %)

4% AABA) Y » BO=AP =10+ AQ =5

i) ABCD s 4t~ AB = AQ +BQ =5 +10% =125
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56+3=18..2 3 iz #ict 18
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S22 3 eni ey 28+18-9=37 B

= 55-37=18(% H & » 2 #-56 )

7. In A ABC as show in the right, £4CB=90°_ D is a point on * c
AB, connect €D, E is the midpoint of CD, connect BE and %
extend BE to point F, EF = BE, connect DF and DF intersect ¢ ’

AC at point G, then connect CF. If £4=30° BC=4  CF=6_then

D=

<fEte>

AB=8 , AD=2 , AG=+3 s CG=33

. RTACGD # » CD=247
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8. Use five sticks of 4cm, S5cm, 6cm, 7cm and 8cm to form a triangle, where any
side can be connected with two or more sticks but no stick should be broken into
two smaller sticks. What 1s the largest possible area of triangle can be formed?
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5+6+7+849=30 > 30+3=10(% & H Z_* > AxEITE = £ )
= B E=(447 > 546 > 8)
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. 0,8=0,B-BS=5-4=1,%00,=2"+1> =45
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C(0,-3), B(3,0), A(-10), \\\U
AT R G y=x"-2x-3 > HTEBLE(,-4), A\ [0 A~ x
* D(0,]),

% /\BCE ? » BC=32,CE=+2,BE=25 C

710 /BCE=90"° » tan ZCBE = % — tan ZDBO . E

#111 /CBE = /DBO > #7111 /DBC—/CBE = ZOBC =45"
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